f % % é YeThIpE APOOH, NECATUUHBIE APOOH, OPAIOK
oIepamii co CKoOOKaMu

Nwms: Jara: Orenka:
1 1 1 2
10(=+ =)+2 x4 = — =2+5(=—-2 =
0(z+2)+2%4-5,6 5 %8 55-27)
9(1+1)*3><2+5 3= 63,1 -2 3);3><5+1—
6 27 ’ ’ T 4
1 1 1
2 (9 9 ) 9 (4 4)
1 3 1 3
4.5—-3(= — = —— =)=2%x4—- ==
1 1 3 1
— =2+5(=—2,2)= -+ - + =
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f f % A é 4eThIpe ApoOH, TeCATUUHBIE IPOOH, TOPSTOK
oreparmii o CKOOKaMu

Vmst: Jlata: _ Orenka:
10(é+%)+2><4—5,6=§=1% %><8+2+5(§—2,7)=(—%)=(—8é)
9(% —) 3 x 2+53=%—9% 6(3,1—2,3)+ 3 x 5+%=?—8%

;—3(3 8+4,1)= (—%) (235) 4,6—5(%—%)=25—3=4§
4,5—3(%—5,8)=¥=20% 8(%—%)+2X4—%=%=4%
é><8+2+5(%—2,2)=(—46—7)=(—7%) (_+ ) 545, 7—55—6—11%
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